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Part (1): 10 MCQ 3marks per question

Outcome: Find the circumferences of circles given the radius or diameter

Textbook #455 questions 1-6

1) Find the circumference of the watch face. Use
3.14 for n. Round to the nearest hundredth if
necessary.

d=19in
2in.
C= 2MMr g B
- TTO{ - U

(J

6,88 i

2) A circular fence is being used to surround a

doghouse. How much fencing is needed to
build the fence? Use 3.14 for .

d= 4.5 PE

1 £ XIB &
_’:S\ll'[ (_\Lf\5>

—~ UB520
— y5.52 it

1us 1
31 44 2
W

{y5o
U35, ®

555 "

3) Find the circumference of a circle with a

(radius 31% ( yards. Use 3.14 for n. Round to

the nearest hundredth if necessary.

. _ 63 2.5

r= 33 = @ °
RU

5 ST

= 7 (34) -
= B.WM (63)
= Y9452 80{




Part (1): 10 MCQ 3marks per question

Outcome: Find the circumferences of circles given the radius or diameter

Textbook #455 questions 1-6

4) Find the circumference of a circle with a radius of

4.4 inches. Use 3.14 for m.Round to the nearest
hundredth .

= Hly =344

C= 21l

—~ 2(3.4)(4-4)

- 2 (13.9)6)
= 9O17.BE2
— 07.63 n

5) The world’s largest flower, the Rafflesia, has a
circumference of 286 centimeters. Find the

approximate diameter of the flower.Use 3.14 forn

C:_TTC)\
9 34 = d

Q_%
s 314

d=9L6323
A= N cm

. . il
6) A helicopter pad has acircumference of 47—
yards. Find the approximate diameter of the

helicopter pad. Use 3.14 for n. Round to the nearest
hundredth if necessary. q &

C = U74 = 9 - G
C. = "ﬂ_d
47.5 = 344 d

yz.5
A= Z10

& = \5\\2;&&----

A~ 1503 Yd




Part (2): 10 MCQ _ (5 marks per question)

F)::TTT?

Outcome:Find the area of circles given the radius or diameter using the formulas Textbook #465 questions 1-8

1)Find the area of the circle. Use 3.14 for x.

Round to the nearest hundredth.
hundredth.

V=
.
A= 1 "
_ 3y (7D

= |152.&8 4

~ \B3.29 W

2)Find the area of the circle. Use 3.14 for x.
Round to the nearest hundredth.

Y= L5
A= T
- 3\’4 bf2'5

o 5 \u (H 25)(4 ’zb’)“‘

- E80625
= 54. 41625
A 15 fi
AY 56.72 '

3) What is the area of the drumhead on the
drum? Use 3.14 for n. Round to the nearest

hundredth.
?\: \:\\ M\L,\ f/7/////7/1
2 2
e=Fin)
P) TTT
_zm (@)
- 3.4 (4a)
= \53.8¢ 1t




Part (2): 10 MCQ_ (5 marks per question)

Outcome:Find the area of circles given the radius or diameter using the formulas Textbook #465 questions 1-8

4)What is the area of one side of the penny . Use
3.14 for m. Round to the nearest hundredth.

r
= 3.4 @19
-~ 3J4 (q0.925)
= 233,335

= 23329 wmm

5) Mr. Ling is adding a pond in the shape of a
semicircle in his backyard. What is the area of the

V= 8 212: ' ?ﬁ 8in,
a2y = éfi‘—

Rrea c:jj SewiCircle
2 A =
= O 2 2T
34y (8.75)
>

= W53 {875
— \QD.%B\’LS

—

> 2028 B

pond? Use 3.14 for m.Round to the nearest hundredth.

6) Vidur needs to buy mulch for his garden. What
is the area of his garden? Use 3.14 for n. Round
to the nearest hundredth if necessary.

r=55 Y

(f




Part (2): 10 MCQ_ (5 marks per question)

Outcome:Find the area of circles given its circumference.

Textbook #465 questions 1-8

7) The exact circumference of a circle isinches. What is

the approximate area of the circle? Use 3.14 for m.Round to
the nearest hundredth.

C= 2TY = \gf = 27"
=2 | 2

A =T ‘(\’l -
34 (a)

—~ 2.4 (3))
= 254.3Y iy

\

8) The exact circumference of a circle is 3471:hat is

the approximate area of the circle? Use 3.14 for =. Round to
the nearest hundredth.




Part (3): 3 FRQ (6 to 8 marks per question) Show your steps

Outcome: find areas of composite figures by decomposing the figures .

Textbook #473 questions 4-8

4) Find the area of the figure. If necessary, use 3.14
for m and round to the nearest hundredths.
{r=5%

A= F\(eou’)@ Sewicig

U\O\Yﬂﬁ . E

AT 30405

A= ?_3

P = \57(25 ):3 25 P
_bw MB

& bk
= 006 PE°

Tk area = B+ B

2

= 39,725+0¢< 59,25 }%t

5) Find the area of the figure. If necessary, use

3.14 for m and round to-the nearest hundredths.
h=um

8m v 6m
C?%"' 6m
p m"f iy
Area o | triangle = b
B = bh ,_(._)_:mml
i
Area OJC redranﬂ\ﬁ P
_Pw
. _ 26 (6) = \20m
%bR f—\reo\ = P\—‘r B
= {2 %206 % 3Q—m

(—/J:,Q alee =

6) Find the area of the figure. If necessary, use
3.14 for m and round to the nearest hundredths.

ﬁ\] Area Gjﬁ
Cflangle
Q 73,6 cm
EQLu)(qxg) /
. e 59cm '
— 7.64 e
IQL: Rrea of éfd{ﬁe%l'd
_( bi+b
= (2 L)h

@ L%+3~é )(3A)

- a_ (5Q) =42(59
= 24 78on
2.6U+24. Y22 7 42 Q-



Part (3): 3 FRQ (6 to 8 marks per question) Show your steps

Outcome: find areas of composite figures by decomposing the figures .

Textbook #473 questions 4-8

7) Find the area of the shaded region.

L
L\\: A, - GTQOLOJQSCTULC{Y«Q 8 ft |.7032ft4-|
=(8)= 64 ad[m o
Pi=6URE, B> 64 BT P Jei
Vaf -

81t

A3 = Prea 6 f vectangle
- €UL/ —:-HC’JUéJ: 64 o %ﬁl
Nrea 6 f’ Shaded req oy
= Rz - (AR
= 640 — (64+6Y)

= BYE - 143
S Bie g

8) Find the area of the shaded region.

# Rreasf {rapezoid

L{ 20 cm
0
s WL
2 16 cm
A

40 cm

2
= 20{16) = YBo am>
N, = Area of triand€

_ bo(\6) _ L
- = = 220 Cm

Prea O?S\I\adéd (9N
= @\ G QL— ~
= U8 — 220 = \66 m



Part (1): 10 MCQ 3 marks per question

Outcome: find volumes of prisms and pyramids by using formulas

Textbook #485 questions 1-6

1) A cooler is in the shape of a rectangular
prism. What is the volume of the cooler?
Round to the nearest tenth if necessary.

\]:‘le/\nln.
=25 (12) L% )
l
= 11 (12)27)
o) 1

2) A cereal box is in the shape of a rectangular

prism. What is the volume of the cereal box?
Round to the nearest tenth .

\}:@w\f\

_A g
R -
— #(9¥
9
= 169.2 \n
)
| &Y
I+ W\6749
T A #iﬁ~
6 9 24
~ =

3) Find the volume of the figure. Round to
the nearest tenth if necessary.

N = Base area X V\-azg}\f
_ @320 . 3
>)

& 27

36
- Q%2 wo | 2% y

2.5 2
F2°

Mt ST

372



Part (1): 10 MCQ 3 marks per question

Outcome: find volumes of prisms and pyramids by using formulas

Textbook #485 questions 1-6

4) Find the volume of the figure. Round to the
nearest tenth if necessary.

= Dasearen K Height 7

7
’

J= (2640 (5.1)

.3
i REYCAN cad
QT

5) Find the volume of the figure. Round to the
nearest tenth if necessary.

\[O\U\Vﬂ'e. 24m
- é_ bose aren X Hehl
bO\SP QYeo :%—‘h
_ \\L{zl@) il
— Qé \N\/L
0.8
Ndume = L (1:26) (o)
— \oo¥%
= 4.0 \N\3

6) Find the volume of the figure. Round to
the nearest tenth if necessary. L{ (é_)
RS

Nolume -~ é\;bqj@areqXHagh{
= é.(lq)(lg-
5 HE,
= g )
= \5.66 yd
el ﬂdj



Part (2): 10 MCQ_ (5 marks per question)

Outcome: find volumes of prisms and pyramids by using formulas Textbook #485 questions 7-10

Cubic meters) What is the area of the base of the prism? volume of 494 cubic centimeters. What is the area of the

@ar prism has a height of 5.9 and volume of 86.376 8) Arectangular pyramid has a height of 9.5 centimeters and a
base of the pyramid?

Nolume = Bag area X Heght Base ave X Height

Nolume = 3
36. 35 iamm T 3o EHo)| 9 o0 Ofa — R« Nolume
Bt il = \%Q\@(\J‘

— 48) lhaa)

9.5
= | B4 Cw




Part (2): 10 MCQ_ (5 marks per question)

Outcome: find volumes of prisms and pyramids by using formulas

Textbook #485 questions 7-10

9) Aglass stand to display a doll is in the shape of a right triangular
pyramid as shown. The volume of the stand is 202.5 cubic inches. What

is the height of the stand?

Rase area = B - U
2
B @_ -Ho5 mZ
L

Nolumeé= ~L queam)( He,cg]af
j_ éH’
2085 = =i h x2

\
2 (2ea.5) 5 27! Is1eH
\(\: qﬁg ool e i3
2 A Vo \uwe /

\'\Q\g\\{ =

Base aren

of sticky notes {s 54.6 fubic inches. What is the height of the box
of sticky notes?

10) A triangularbéj}fsticky notes is shown. The volume of the box

qugg avyea. — ‘%/L r
*(5.'2)(35) ;
- q _/J, X’L 35in. \;T} h
By 7
] as\umeé 5.2In
\J\Q\g\ﬂ'j\ o3 —'———‘%a& areo.
54.6

(]

9.4
6 n

[



Part (1): 10 MCQ 3 marks per question

Outcome: Find the surface areas of solids by relating the nets of those solids

Textbook #495 questions 1-6

1) Find the surface area of the prism. Round
to the nearest tenth if necessary.

/N

2) Find the surface area of the prism. Round to

the i@/msﬂtl@nlh.if necessary.

L w M\

I

i 3.1

6in

M- A

SB =2)645)+ 433 +6()
. 2[25.@ i )59/+QQ\2]

=2 [ 63091)
= 12382

~ 1278 in

37In \

-

43in.

3) How much cardboard is needed to
make the single slice of pizza box shown?

Qtr(av\glef
3 redmgles g
Hreo\ apzﬁ.'lin.
ﬁrrm/gle,( )
=4 .k_)i‘/_\_ :
=6 I
:-1%71‘ in"
O‘%G@C\Lq%/eg =2 (\h?ar)}l)
= iy W g
1 re L\—QV\S\QT_ g1\ = 6T
e P &S 4
=0 B 2RE e
— 634 W



Part (1): 10 MCQ 3 marks per question

the End

Outcome: Find the surface areas of solids by relating the nets of those solids

Textbook #495 questions 1-6

4) What is the surface area of the triangular
prism-shaped toy car ramn shown?

area éﬁ ) rec,(ayg)a =7(15)
=165 in"

O&f?aoﬂ rechw}eir_ 7(,?): //C?J}/)z

caféa °P ye C,Q’mtalei( = B4

S < 1205 4105+1104+56
= Yoo iy

5) Find the surface area of the pyramid. Round
to the nearest tenth if necessary.

Area of f—f\a—baie
= (1575)

- 248.0625

~ 2484 \wW LS
B75iIn

aren oL 4 %‘Y\m@l? §
A, b/zl\_: 2 (1535)(R25)

= . 389 l‘ﬂq‘
SR = 248 + 388.9
~ 630 in

6) Find the surface area of the pyramid.
Round to the nearest tenth if necessary.

Bae Qreq
— 2.2 (164)
2
= 6.4(106)

— 6(,f' 7 106m

area OP 2 Jorranalé’s
- (12)(16)3

. Z
= BiraiB)= QJL{(IQQ)

= 392K

S p = 6YF + 2928
= 357.5 v




